
MIT Integration Bee Qualifying Exam 22 January 2024

1

∫ 2025

2023

2024 dx

2

∫
(x− 1)log(x+1)

(x+ 1)log(x−1)
dx

3

∫
(x log x+ 2x) dx

4

∫
dx

x log x+ 2x

5

∫ 2π

0

arccos(sinx) dx

6

∫
cosx+ cotx+ cscx+ 1

sinx+ tanx+ secx+ 1
dx

7

∫
x2024 − 1

x506 − 1
dx

8

∫ 1

−1

(5x3 − 3x)2 dx

9

∫ 2π

0

(sinx+ cosx)11 dx

10

∫ 2π

0

(sinhx+ coshx)11 dx



11

∫
csc2(x) tan2024(x) dx

12

∫
cosx(x)(log(cos x)− x tanx) dx

13

∫ ∞

−∞
e−(x−2024)2/4 dx

14

∫ e

1/e

(
1− 1

x2

)
ee

x+1/x

dx

15

∫
(x+ 1− e−x)exe

x

dx

16

∫ (
arctan(x)

1− x2
+

arctanh(x)

1 + x2

)
dx

17

∫ ( ∞∑
k=0

sin

(
kπ

2

)
xk

)
dx

18

∫ 1

0

(
2024∑
n=0

x2n−1012

)
dx

19

∫
x4

3− 6x+ 6x2 − 4x3 + 2x4
dx

20

∫ 3

1

x+ x+···
1+···

1 + x+···
1+···

dx


